Magic Mathmatics (Book-5)

Chapter 1 : Bigger Numbers

Exercise-1.1

1.

Compare the following numbers and put>or <in the boxes :
a) > b > ¢ > d < o < f <
Arrange the following in ascending order :

a) 295227,718659,817442

b) 504797,524999,548378,594872

c) 4695227,7184659,8178042

d) 5234378,5464999,5477997,5484572

Arrange the following in descending order :

a) 587649,328589,325529

b) 974829,778720,735827

c) 5864149,3252529,2857489

d) 4297829,4278720,4277727,4273827

Write each of the following numbers in words :

a)  Thirty four lakh twenty six thousand and five.

b) Ninety two lakh forty two thousand six hundred and two.
¢) Fivecrore eighty seven thousand two hundred thirty eight.

d) Ninety seven lakh forty three thousand two hundred sixty
SIX.

e) Fifty three lakh ninety six thousand seven hundred forty
two

f)  Twenty eight lakh twenty thousand five
Write the following numbers in the short form :
a) 3677630 b) 8084335

c) 9005080 d) 7045845

Build the smallest and the greatest number using the digits
only once:

Greatest number Smallest number
a) 85320 20358
b) 95210 10259
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10.

11.

12.

13.

Give the expanded notation of the following numbers :
a) 30000000 +1000000+900000+40000+100+50+6
b) 900000+ 80000+ 5000+300+3

c) 5000000+600000+30000+9000+800+70+4

d) 60000000+4000000+30000+100+40+7

Look at the pattern and write the next three numbers :
a) 5,32,000;6,32,000;7,32,000

b) 56,72,815;57,72,815;58,72,815

c) 5,14,88,651;5,14,89,651;5,14,90,651

Write the following numbers in figures :

a) 50200059 b) 2715642

c) 80725900 d) 5208492

Make the largest and the smallest 6-digit numbers using
each digit only once :

a) 876341,143678 b) 987421,124789
c) 976510,105679

Make the largest and the smallest 7-digit numbers using
each digit only once :

a) 8654321,1234568 b) 9764321,1234679
c) 9876320,2036789

Make the largest and the smallest 6-digit numbers using the
given digits. You may repeat the digits :

a) 7777777,111111 b) 999999, 111111
c) 888888,100000

Make the largest and the smallest 7-digit numbers using the
given digits. You many repeat the digits :

a) 7777777,1111111 b) 9999999,1111111
c) 9999999,200000

Exercise-1.2

1.

Round the following numbers to the nearest tens :
a) 532260 b) 743850
c) 2436780 d) 9758250
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2.  Round the following numbers to the nearest hundreds :

a) 854700 b) 976900
c) 7258500 d) 7469800
3. Round the following numbers to the nearest thousands :
a) 824000 b) 737000
c) 7521000 d) 9737000
4. Round the following numbers to the nearest ten thousands :
a) 870000 b) 250000
c) 7520000 d) 9740000
5.  Round the following numbers to the nearest lakhs :
a) 100000 b) 800000
c) 7800000 d) 4000000
6. Round the following numbers to the nearest ten lakhs :
a) 6000000 b) 9000000
c) 5000000

Exercise-1.3

1. Write the following numbers in the International place
value chart:

Billions Millions Thousands Ones

Hundred Ten Billi Hundred Ten Milli Hundred Ten
Billions | Billions NS | Millions | Millions MONS | rhousands| Thousands

8 9

Thousands| Hundreds | Tens | Ones

a)
b)
c)
d)
e) 6
f)
g 3
h)

2. Separate into periods according to the International system
of numeration :

oO|lo|lw|w]|o|wv

NIN|IR|IN RO

OIFR|IN|OIN|IN|~L, O
Wi N|O|lR,r ||V |N

| I N[Ol |wW||Ww
Rl |[|IN|A~|O|lO |0V
O|lO|Rr|P|IOIN|FL|IN
O|lRr|OO|0|W||O|OD

5

a) 5,123,618 b) 3,365,128
¢) 81,987,619 d) 72,289,369
e) 783,693,607 f) 78,931,086
o) 41,627,913 h) 36,481,293

Math-5



Give number names for the following numerals according
to the International system of numeration :

a)
b)
©)
d)
e)
f)

2)

h)

Seventy one million six hundred seventy two thousand
eight hundred ninety six

Seventy six million one hundred eighty nine thousand
three hundred sixty nine

Sixty seven million six hundred ninety three thousand one
hundred sixty nine

One hundred twenty three million four hundred fifty six
thousand seven hundred eighty nine

Seventy million five hundred sixty one thousand eight
hundred seventy six

Seventy nine million one hundred two thousand nine
hundred thirty four

Five hundred seventy five million eight hundred twelve
thousand nine hundred thirty

Two hundred seventy million fifty six thousand seventy
five.

Write the following numbers in figures :

a)
¢)
e)

56000000 b) 25002305
5002036 d) 62000205
23036506

Exercise-1.4

1.

Write the following in Roman numerals :

a) LV b) XLIII c) LXVII
d) LXXIX e) LXXXVII f) XCVI
g) XCIX h)y C

Write the following in Hindu-Arabic numerals :

a) 42 b) 29 c) 91

d 43 e) 77 f) 88

g) 49 h) 92

Compare the following using '<','>' or '=' in boxes :

a)

< b) > c) < d >
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Chapter 2 : Addition and Subtraction

Exercise-2.1

1. Add:

(a) 538186
+747010
1285196

111
(c) 35963214

+12340010
+14280152
( 62583376)

1 111

© 51387257
+41010250
+22361728
(114759235)

1121121

(2) 37567871
+ 14893497
+635388557

(_ 687849925)

1 1 1
(b) 5629393
43516155

9145548

11 2

(d) 3750029
+24310625
+47130106
( 75190750)

1 11
12731930
M 128000001
+53009604
(. 93741535)

1122121

(h) 24599755
+433085297
+214887662
(. 672572714)

Write in columns and then add :

Putting the digits of the given numbers in the column form
and then adding columnwise, we get :

(a)
512320
+251621

763941

(b)
1 11
2163328
+1645273

3808601
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211
16582612

© 119150123 (d)
+57623002
( 93355737)
22111121
(e) 359601187

+ 47778888
+297366674
(704746749)

First candidates got the votes
Second candidates got the votes
Third candidates got the votes

Then total number of votes got

111
10513262
+ 2805620
+ 321290
( 13640172)

=551250 551250
614106
=614106 1603944

= 603944 (1769300

= 1769300

Hence, total number of votes polled = 1769300 + 2576

=1771876
Onions produced in Ist year = 927507 tonnes 927507
Onions produced in IInd year = 476246 tonnes 476246
+716402

Onions produced in I1Ird year = 716402 tonnes (2120155

Then, total onions produced

in three year

= 2120155 tonnes

Number of Male teachers in government school =3276788

Number of female teacher in government school =2112901

Number of male and female teachers in private

schools =1674536 3276788

. 2112901
Total population of teachers ~ =7064225 +1674536
Hence, 7064225 teachers are in our country. 7064225
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10.

Population of city X in 2011 =2752473 2752473

. ) . _ 3168912
Population of city Yin 2011 =3168912 +3805694
Population of city Zin 2011 =3805694 9727079
Total population =9427079 927197
Hence, the population of three cities are 9727079. 1235237

+1127543

The number of visitors in Ist year —=927197
The number of visitors in IInd year = 1235237

The number of visitors in IIIrd year = 1127543

Total number of visitors in three years = 3290977

Hence, 3290977 visitors visited Taj Mahal in three years.

The profit of company in year 2012 =%1612876 1612876

‘ 2431980
The profit of company in year 2013 =32431980 5625193

The profit of company in year 2014 =32625193 6670049
Total profit of the company =36670049
Hence, the profit of the company in three year is T6670049.

Production of rice in tonnes = 6607657 6607657

+7579102

Production of wheat in tonnes = 7579102 14186759

Total production = 14186759

Hence, total production of the state is 14186759 tonnes.

The population of men in country =25147638

Th lation of i = 15769298 25147638
e population of women in country = 15769298

The population of children in country = 2627698 +26276938

o 43544634
Total population in the country = 43544634

Hence, the total population of the country is 43544634
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Exercise-2.2

1. Subtract:

(@) HEN
641746

-565424

76322

© [EE D6
935986

-644857

291129

HiEHEE]
(e) 19697604

-17009576

( 2688028)

€3] B[ I )
969519164

-717629943

(251889221)

() T
813351

-487220

326131

6144977
+1047564

5097413

BE0EEE
(f) 69371502

~63190874
( 6180628)

(d)

(h) MEENE
776423399

~-356886202
(419537197)

2.  Write in the columns and find the difference :

(@ 619234
+208130

411104

(©)  EEIEERIEE
7070000

-6196963

873037

(b) (DTS
2352898

1449699

903199

d O e B
41932593

~-4915076
(37017517)
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(e) [elididid  [elid
67T 727977

—28953959
(648774018)

The number which to be added to get 843563, we subtract
567834 from 846563. Then
843563
-567834

275729

Hence, the required numberis 275729.

to find the requirded number, we subtract 61987568 from
83134252
—-61987568
(. 21146684)

Hence, the number 21146684 should be subtract to get
61987568.

Evaluate:

(a) 2421768149868 =923600

(b) 98430081—-25697884="73232197

(c) 78386196—53995669=24390527

Simplify :

(a) 67812389-12626121+21238161
=89050550—-12626121=76424429

(b) 66123816+100023-61035216
=66223839-61035216=5188623

(c) 743528619-1116208—-11410 =742412411-11410

=742401001
The sum oftwonumber =2754605
First number =987953
The second number =2754605-987953
=1766652

Hence, the second numberis 1766652.
The difference of two number =2576190
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10.

11.

12.

13.

One number =7175460
The othernumber =7175460—-2576190
=4599270
Hence, the other numberis 459970.
A company produced toysinyear2013  =21976193
Acompany produced toysinyear2014  =21796194
The company produced more toys  =2197693-21796194
=179999
Hence, company produced 79999 more toys in year 2014.
Total population oftown =475989
The number of men =160190
The number of women  =100570
The number of children =475989-160190—-100570
=475989-60760
=215229
Hence, the number of childrenis 215229.
The sum of twonumber  =459693478

The first number =356547568
The second number =459693478 —-356547568
=103145910

hence, the second numberis 103145910.
The sumof 112867812 and 32862619 =12867812+32861619
=45729431

To find the required number, we subtract 45729431 from
98386186.

Now, 98386186
-45729431
( 52656755)

Hence, the required numberis 52656755.

Abusiness man total spent =373561610

He spent in machines and land =346575000
Abusinessman spentin construction =373561610-346575000

=326986610
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14.

15.

73561610
-46575000
(26986610)
Hence, businessman spentI26986610 in building construction.
Aclothmill produced clothinyear2013  =246054320m
Aclothmill produced clothinyear2014 =343526140m
Therequiredcloth =343526140 m—246054320m
=97471820m
Hence, cloth mill produced 97471820 m less cloth in year 2013.
343526140
-246054320
(97471820)
The greatest 8-digitnumber ~ =99999999
The greatest 7-digitnumber ~ =9999999
To find the required number, we subtract 9999999 from
99999999. 999999909

~9999999
( 90000000)

hence, we must be added 90000000 to get greatest 8-digit
number.

Chapter 3 : Multiplication

Exercise-3.1

1.

Fillin the blanks using the properties of multiplication :
(@5 (b)30 (o)1 (d)o ©)9 (982,108
(g) 556200 (h)2132
Find the products :
(a) 284x10 =2840
(b) 1056x20 =1056x2x10
=2112x10=21120

(c) 4956 %300 =44956 x 3 x 100

=14868 x 100

=1486800
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(d) 4158x500 =4158 x5x100
=20790x100
=2079000

(e) 7045x6000 =7045x6x1000
=42270 %1000
=42270000

(H) 9999 %8000 =9999 x 8 x 1000
=79992 x 1000
=79992 x 1000
=79992000

3.  Multiply the following orally :

(a) 49by30 =49x30

=49x3x10
=147x10=1470

(b) 748by 200 =748 x200
=748 x2x100
=1496 x 100=149600

(¢) 1568by 1000 =1568x1000
=1568000

(d) 20695x6000 =20695x6x1000
=124170 = 1000
=124170000

4. Find the following products by using suitable grouping :

(a) 5x85%x2 =(5x2)x85

=10x85=850

(b) 8x36x25 =(8x%x25)x36
=200x%36
=2x100x36
=72x100=7200

(c) 2056x45x4 =2056 (125x4)
=2056 x500
=2056 x5x100
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= 10280 x 100 = 1028000
(d) 476x200%50 =476 (200 x 50)
=476 x 1000

=476000

5. Fillin the blanks :
(a) 40, (b)800,5
Exercise-3.2
1. Multiply:
3234
(a) x214
12936
32340
646800

(692076)

7059

©) X656

42354

352952

4235400
(4630704)
61308

(e) X615
306540
613080
36784800
(37704420)

2163

© x7495
10815
194670
865200
15141000
(16211685)

(€)800,70  (d)90,6

4106

(b) x 437
28742
123180
1642400

1794322

22764

() x236
136584
682920
11382000
(12201504)

1734

() x9526
10404

34680
867000
15606000
(16518084)

) 80163
x5214

320652
801630
16032600
400815000
(417969882)
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3.

(1) 80032
x6059

720288
4001600
0000000

480192000

(484913888)

Write in columns and find the products :

(a) 3359
x213

10077
33590
671800

Hence, 3359 x213=715467

(c) 2563
x 8314

10252

25630

768900
20504000
(21308782)

Hence, 2563 x 314
=21308782

(e) 50082
x953

150246
2504100
45073800

(47728146)

Hence, 50082 x 953
=47728146

(b) 5908
X346

35448
236320
1772400

2044168

Hence, 5908 x 346 =2044168

(d) 6254
x9408

50032

00000
2501600
56236000
(58837632)

Hence, 6254 x 9408
=58837632

() 63297
x1258

506376
3164850
12659400
63297000
(79627626)

Hence, 63297 x 1258
=79627626

Find the continued product of the following :
(a) Firstwemultiply 315 by 36.
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315
X36
1890
9450

Now, we multiply 11340 by 8.
11340
x 8
90720
Hence, 315 %36 x8=90720

(b) Firstwe multiply 5032 by 200.
5032
x200

0000
00000
1006400

1006400

Now, we multiply 1006400 by 59.

1006400
X509
9057600
50320000
(59377600)

Hence, 5032 x 200 x 59=59377600

(¢) Firstthe multiply 183 and 56.
183
x56

1098
9150
Now, we multiply 10248 by 12.

Math-5

10248
x12
20496
102480



Hence, 183 x56 x 12=122976
(d) Firstwemultiply 419 by 302.

719
x302
838
0000
125700

126538

Now, we multiply 126538 by 7.
Hence, 419 x 302 x7=885766
126538
x 7

Exercise-3.3 885766

1. Weightofabox =562kg
Weight 0242 boxes =(562 x242)kg

562
x2472
1124

22480
112400

Hence, the weight 0f 242 such boxes is 136004 kg.
2.  Thegreatest 5S-digitnumber ~ =99999
and other number =222
The product of these numbers  =99999 x 222
99999
x222
199998
1999980
19999800
(22199778)
Hence, the required productis 22199778.

3.  Theleast numberusing the digits 2, 3, 0 and 5 is 2035.
The greatest 3-digit number using the digits 2, 3, 0 and 5 is 532.
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So, product of least number and greatest 3-digit number
2035 =2035x%532

X
4
61
1017

Hence, the required productis 1082620.
The cost of a refrigerator =38625
The cost of 237 refrigerator =3(8625 % 237)

| O© O|n
NS D QW
OO O O

N L N
SO NI n

2
17

Hence, the cost 0f 237 such refrigerator is¥20444125.
A cartravels in aminute =1752 metres
Acartravels in4 hours or 240 minutes = (1452 x 240) metres

Hence, car travels 420480 metres in 4 hours.

1752
X240
0000
70080
350400
(420480

The number of primary schools in a state =4358

o0 O X 00
—O ] W N
DS L J|Ww

AN

The average number of students in each school =1056
Total number of students in state =4358 %1056
4358
x1056
26148
217900
000000
4358000
( 4602048)

Hence, 4602048 students are in a state.
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Shours40 minutes =(5 % 60) minutes +40 minutes
=300 minutes + 40 minutes
=340 minutes

Number of words type in 1 minute =143

Number of words typed in 340 minutes =143 x 340

340

N W —| X
SN O
S O N
SO OW

1
3

Number of words typed in 1 day =48620
.. Number of words typed in july month or 31 days =48620 x 31

Hence, Parul can typed 1507220 words in the month of July.
Fillin the boxes by correct digit :

5671 3585

x53 x242

17013 7170

283550 143400

717000

Chapter4 Division

Exercise-4.1

Divide and find the quotient and the remainder :

(a) 547 (b) Ly
18) 4362 37) 8672
~ 36l ~ 74|
76 127
- 72 —111)
T 42 162
- 36 - 148
6 14




Hence, Quotient =242 Hence, Quotient=234

and Remainder=6 and Remainder=4
() 281 (d) 7509
73]20581 82)615738
/146 <574
598 417
- 584 -410
141 73
— 73 =0
68 738
— 738
_ 0
Hence, Quotient=281 Hence, Quotient=7509
and Remainder =68 and Remainder=0
(e) 3000 (" 1973
123)369052 355/700598
<369 | 2355 |
0 3455
-0 -3195
05 2609
-0 — 2485
52 1248
-0 -1063
52 83
Hence Quotient=3000 Hence, Quotient=1973
and Remainder=>52 and Remainder =83
(2) 4286 (h) 11491
2471058732 7318400567
— 988 Z731]]
707 1090
— 494 -931
2133 3595
~2924]
6716
- 6579
1377
- 731

646




Hence Quotient=4286 Hence Quotient=11491

and Remainder=90 and Remainder =646
(1) 92408 ) 92447
645/59603741 52648627509

2510
- 2104
4069
-5160 — 3682
581 387
Hence Quotient=92408 Hence, Quotient=92447
and Remainder= 581 and Remainder =387
T
44/89456445
Z 83| 23691 |
14 185
_0 — 164
145 216
~ 132 -205
136 114
- 131 — 82
T 44 322
— 44 — 287
4 355
0 — 328
T 45 27

_ 44
1

Hence Quotient=2033105 Hence, Quotient=945278
and Remainder=1 and Remainder=27
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2. Find thedividend, when :
(a) Divisor=236, quotient=8352andremainder=158
Dividend =Divisor x quotient + remainder
=236x8352+158
=1971230
(b) Dividend = Divisor x quotient +remainder
=163 x 10056 +26
=1639128+26
=1639154
(¢) Dividend = Divisor x quotient+remainder
=235%x96320+15
=22635200+15
=22635215
3. Thegreatest 7-digitnumber ~ =9999999
The smallest 3-digitnumber =100
According to the question =9999999 100

Now,
99999

100)9999999

2900/ |

999
—-900
999
900,
999
—900
999

- 900

99

Hence, Quotient=99999 and Remainder =99
4.  Thelargest 8-digitnumber=99999999
The largest 4-digit number = 9999
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10001
9999199999999
29999 |

9
~0
99
—0
999
~0
9999

- 9999
0

Hence, quotient= 10001 and remainder=0
S.  Fillin the suitable digit in the boxes :

b
@ 20648 ®) 21983
263)5430599
“526] |
1705
— 1578
1279
— 1052
2279
- 2104 — 1480
175 687
— 555
132
Exercise-4.2 3572
1. Total number of books =946580 265)946580
Number ofbook inashelves =265 - 7_L95
Number of shelves required - ig ;g
=946580+265 1908
- 1855
530
) - 530
Hence, 3572 shelves required. ]
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2.  Numberofpersons visited inaleap yearor 366 days =941718
Number of personvisitedinaday  =941718+366

2573
366/941718
<732
2097
- 1830
2671
— 2562
1098
~-1098
0

Hence, 2572 persons visited in a day.
3. Acompany manufactures scooters in463 days =23316217
A company manufactured scooters ina day =23316217+463

50359
463/23316217
= 2315 l
166
-0
1662
- 1389
2731
- 2315
4167
—-4167
0
Hence, 50359 scooters manufactured by the company in a day.
4. Numberofapples are packed in 2534 boxes =826084
Number of apples are packed in abox =826084+2534
326
2534)826084
<7602 |
6588
-5068
Hence, 326 apples are in each box 15204
- 15204
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5.  Number of days in March, April, May and June

=(31+30+31+30)days
=122 days
Total sale of milkin 122 days  =3134668 litres
Sale of milk in one day =3134668 litres + 122
25694

Hence, 25694 litres milk selll everyday.
6. 60 minutes =1 hour

1 minute = L hours

The hours are in 293520 minutes = 293520 hours +~ 60

4892
60)293520

120

-120

0

Hence, the 4892 hours are in 293520 minutes.

Anegg-sellerbought eggs =264054
The rotten eggs =159
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10.

Anegg-sellerboughtacurateeggs =264054—-159
=263895

Number of eggs are packed in 723 boxes =263895

Number of eggs are packed in one box =263895+723

365
723263895
2169
4699

— 4338
3615
— 3615

0

Hence, 365 eggs are packed in each box.
Divisor =532, quoitent =247 and remainder =96
Dividend =Divisor X quoitent + remainder
=532x%x247+96
=131404+96=131500
First we divided 350826 from 392.
894
392)850826
<3136
3722
- 3528
1946
- 1568
378

If we subtract 378 from the given number 350826, then
=350826—-378=350448

350448 be exactly divisible by 392.

Hence, the required number is 378/

First we divided 856057 by 461.
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Chapter 5 : Percentage
Exercise-5.1
1. Convertthe following decimals in percents :
(a) 0.54 =(0.54x100) %
=54%
(b) 0.6 =(0.6 x100)%
=60%
(c) 3.02 =(3.02x100)%
=302%
(d) 9.73 =(9.73x100) %
=973%
(e) 0.823 =(0.823 x100) %
=82.3%
(f) 0.037 =(0.037x100) %
=3.7%
(g) 0.206 =(0.206 x100) %
=20.6%
(h) 0.0085 =(0.0085x100)%
=0.85%
(1 0.039 =(0.039x100) %
=3.9%
2. Convertthe following percents to decimals :

1
@) 24% =2%750

~ 2% 024
100

Hence, 24%=0.24
(b) 63.8% = 63.8x ——
100
_63.8x10
~100x10
638

=——=10.638
1000
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Hence, 63.8% =0.638
1
o, =173 x —
(c) 173% 100

1B
100

Thus, 173%=1.73

1
0% =70.4x —
d) 70.4% 00

70.4x10

10010

~ 7% _ 0,704
1000

Thus, 70.4%=0.704

(€) 9.23% =9.23x——
100

~9.23x100
100x100

9B 0.0923
10000

Thus 9.23 %=0.0923

1
0.17% =0.17x —
® ’ 100

017

T 100

_0.17x100

~ 100x100

17 90017
10000

Thus 0.17%=0.0017

1
8.05% = 8.05x ——
&) ° 100
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~ 8.05x100

~100x100
= 895 0805
10000
Thus 8.05 % =0.0805

1
h) 0.0085% = 0.0085x —
(h) ° 100

_0.0085x10000
100 x 10000
85

~ 1000000
Thus 0.0085 % =0.000085

= 0.000085

1
i 0% =0.18 x—
(i) 0.18% 00

~0.18x100
100x100
18

=—=10.0018
10000

Thus 0.18 %=0.0018
Convert the following fractions to percents :

@ - (EXIOOJ%
5 (5

—(3x20)%
=60%

b) — = lxlOOj%
10

_ 7><100J%
10

700) Y
= 0

10
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11 (11
= 22x100 |%
© 73 (25 j"

:(IIXIOOJ%
25
:(11ooj%
25
=44%
(d) 23 _ éxloo %
40 \ 40

23
_(23x100),,
40

_ (2300)%
40

=57.5%

© 23-2x4+3_11
4 4 4

:(Exlooj%
4

:(11><100]%
4

:(110())%
4

= 275%
@ 62 - 6x10+9 6
10 10 10

= (QXIOO)%
10

_ (6900)0/0
10

=690%
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4.

1 37x2+1 75

3] —= ——
(8) 5 5 5
= (ExIOOJ%
2
{7500) o
2
=3750%
(h) 182 _ 18x25+9
25 25
_459
25
= (@MOOJ%
25
45900
= — %
25
=1836%
247 = 24
100
We have to find 24%, i.e., 0f% 400

Now, to find 0f 400, first we divide 400 by 100.
3400+-100=%4
And then multiply I 4 by 24.
I4x24=%96
Hence, 24% of% 400=3 96
35% =3—5
100 35
So, we have to find 100 of 6300.
Firstwe divide ¥ 6300 by.
36300+100=% 63
And then multiply X 63 by 35.
363 x35=%2205

Hence, he saves 2205 per month.
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6. 40% of 70mlongrope=40% %70 m
= 40><L x70m
100

= ﬂ x 70m
100

=] —x 70) m
100
B 40x70j
100
2800}
=|—— |m
100

=28m

Hence 40% of 70m long rope is 28 m.

Chapter 6 Decimal Numbers
Exercise-6.1
1. Findthesum

(a) 2.056 (b) 73.460 (c) 42.050
13.800 0.820 20.007

+ 9.430 +26.047 + 84.390

(d) 68.392 (¢) 39.290 () 24.926
4.800 127.046 3.800
+102.068 +16.795 + 138.549

2.  Arrangein columns and add :

(a) Now, writing the given decimal numbers columnwise and
adding, we get,
6.28
3.52
+3.27

Hence, 6.28+3.52+3.27=13.07
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(b) Converting the given decimals into like decimals, they
become 0.47,0.60 and 46.30.

Now, writing the them columnwise and adding, we get,
0.47

0.60
+46.30

Hence, 0.47+0.60+46.30=47.37

(¢) Converting the given decimal numbers into like decimals,
they become 23.65, 24.00,29.08

Now, writing them columnwise and adding, we get,
23.65

24.00
+29.08

Hence, 23.65+24+29.08=46.73

(d) Converting the given decimal numbers into like decimals,
they become 42.670,7.263,20.000

Now, writing them column wise and adding, we get,
42.670

7.263
+20.000

Hence, 42.67+7.263 +20=69.933
Solve :

(a) Converting the given decimal numbers into like decimals,
they become 8.30,0.54,20.03

Now, writing them column wise and adding, we get,

8.30
0.54
+20.03

Hence, 8.3+0.54+20.03 =28.87
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(b)

(©)

(d)

(e)

Converting the given decimal numbers into like decimals,
they become 70.250,9.005, 2.700

Now, writing them column wise and adding, we get,

70.250
9.005
+2.700

Hence, 70.25+9.005+2.7=281.955

Converting the given decimal numbers into like decimals,
they become 27.076,0.770,0.004

Now, writing them column wise and adding, we get,

27.076
0.77
+0.004

Hence,27.076 +0.77+0.004=27.850

Converting the given decimal numbers into like decimals,
they become 150.63,25.20,41.00

Now, writing them column wise and adding, we get,

150.63
25.20
+41.00

Hence, 150.63+25.2+41=216.83

Converting the given decimal numbers into like decimals,
they become 27.000,0.512, 18.600

Now, writing them column wise and adding, we get,
27.000

0.512
+46.600

Hence,27+0.512+18.6=46.112
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(f) Converting the given decimal numbers into like decimals,
they become 0.750, 10.325,48.000

Now, writing them column wise and adding, we get,

0.750
10.325
+48.000

Hence, 0.75+10.325+48=59.075
Subtract:
(a) 30.64and 18.26 are like decimals :
Now, writing them columnwise and subtracting, we get,

30.64
—18.26

12.38
Hence, 30.64—-18.26=12.38
(b) 6.051and9.328 are like decimals :
Now, writing them columnwise and subtracting, we get,

9.238
—6.051

Hence,9.238-6.051=3.187
(¢) 0.23and0.57 are like decimals :
Now, writing them columnwise and subtracting, we get,

0.57
- 0.23

Hence, 0.57-0.23=0.34
(d) 0.715and 1.402 are like decimals :
Now, writing them columnwise and subtracting, we get,
1.402

_0.715

Hence, 1.402-0.715=0.687

Math-5 @



(e) Converting the given decimals into like decimals, they
become 5.87 and 14.20

Now, writing them columnwise and subtracting, we get,

14.20
—5.87

Hence, 14.20-5.87=28.33

(f) Converting the given decimals into like decimals, they
become 109.54 and 250.00.
Now, writing them columnwise and subtracting, we get,

250.00
—109.54

Hence, 250.00—109.54=140.46
Find the difference:
(a) 7.63and2.41 are like decimals.
Now, writing them columnwise and subtracting, we get,

7.63
—-2.41

Hence, 7.63-2.41=5.22
(b) 18.627 and 15.098 are like decimals.
Now, writing them columnwise and subtracting, we get,

18.627
—15.098

3.529
Hence, 18.627—15.098=3.529
(¢) 25.06and?2.87 are like decimals.
Now, writing them columnwise and subtracting, we get,

25.06
—2.87

Hence, 25.06-2.87=22.19
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(d) 0.96 and 0.58 are like decimals.
Now, writing them columnwise and subtracting, we get,

0.96
—0.58

Hence, 0.96—-0.58=0.38

(e) Converting the given decimals 13.6 and 5.37 into like
decimals, they become 13.60 and 5.37.

Now, writing them columnwise and subtracting, we get,

13.60
- 5.37

Hence, 13.6-5.37=8.23

(f) Converting the given decimals into like decimals, they
become 15.000 and 6.925.

Now, writing them columnwise and subtracting, we get,

15.000
- 6.925
8.075

Hence, 15-6.925=8.075
First we find the sum 0f49.15 and 26.73.

49.15
+26.73

Now, we subtract 75.88 from 85.68

85.68
—75.88
9.80

Hence, the required decimal is 9.80.
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7. Firstwe find the sum 0f29.17 and 34.586.

29.170
+34.586

Now, we subtract 63.756 from 70.

70.000
—63.756

Hence, the required decimal is 6.244.
8. Since62.04>28.205
So, we subtract 28.205 from 62.04.

62.040
—28.205

Now, weadd 33.835and 18.6

38.835
+18.600

57.435
Hence, the required decimal is 57.435.
Exercise - 8.2

1. Find:
(a) Firstwemultiply 25 by 4.
25
x 4

The given decimal number has 1 decimal places.
So, the product will have 1 decimal places.
Thus,2.5%x4=10.0=10
(b) Firstwe multiply 927 by 5.
927
x5

The given decimal number has 2 decimal places.
So, the product will have 2 decimal places.
Thus, 9.27 x 5=46.35
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(©)

(d)

(e)

(®

First we multiply 14316 by 9.

14316
X9
The given decimal number has 3 decimal places.
So, the product will have 3 decimal places.
Thus, 14.316 x9=128.844
First we multiply 65176 by 14.
65176
x 14
260704
651760

The given decimal number has 3 decimal places.
So, the product will have 3 decimal places.
Thus, 65.176 x 14=912.464

First we multiply 31205 by 21.

31205
x21
31205
624100

The given decimal number has 2 decimal places.
So, the product will have 2 decimal places.
Thus, 312.05 x21=6553.05

First we multiply 6524 by 153.

6524

X 153
19572
326200
652400

998172
The given decimal number has 2 decimal places.

So, the product will have 2 decimal places.

Thus, 65.24 x 153=9981.72
Math-5



(2

(h)

(1)

@)

First we multiply 85 x 25.
85
x 25
425
1700

The given decimal number has 3 decimal places.
So, the product will have 3 decimal places.
Thus, 0.085 x25=2.125
First we multiply 246 by 6.
246
X 6
The given decimal number has 3 decimal places.
So, the product will have 3 decimal places.
Thus, 0.246 x 6=1.476
First we multiply 16175 by 37.
16175
x 37
113225
485250

The given decimal number has 3 decimal places.
So, the product will have 3decimal places.

Thus, 16.175 x37=1598.475

First we multiply 7309 by 125.

7309
x 125
36545

146180
730900
(913625)

The given decimal number has 2 decimal places.
So, the product will have 2 decimal places.
Thus, 73.09 x 125=9136.25
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(k)

Q)

First we multiply 34420 by 218.

34420
x 218
275360
344200
6884000
The given decimal number has 3 decimal places.
So, the product will have 3 decimal places.
Thus, 34.420 x 218=7503.560

First we multiply 126007 by 84.
126007
x 84
504028
10080560

10584588

Hence, 126.007 x 84=10584.588

2. Find the following products :

(a)
(b)
(c)
(d)
(e)
()
(g
(h)
(i)
0)

24x10=24

42.53x10=425.3
0.316x10=3.16

152.383 x10=15.2383
9.4x100=940

31.84x100=3184
0.38x100=38.00=38

9.206 x 100=920.600=920.6
15.06 x 100=15060.00= 15060
37.425x1000=37425.000=37425

Exercise-8.3
1. Find the product:

(a)

First we multiply 945 by 73.
945
x 73
2835
66150
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Sum of the decimal places in decimal numbers=2+1=3

So, we put the decimal paint in the product, so as to have 3
decimal places from the right.

Thus, 9.45 x7.3=68.985
(b) Firstwe multiply 13526 by 27.

13526
x 27
94682
270520

365202
Sum of the decimal places in decimal numbers=3+1=4

So, we put the decimal paint in the product, so as to have 4
decimal places from the right.

Thus, 13.526 x2.7=36.5202

(¢) Firstwemultiply 7058 by 36.
7058
X 36

42348
211740

Sum of the decimal places in decimal numbers=3+1=4

So, we put the decimal paint in the product, so as to have 4
decimal places from the right.

Thus, 70.58 X 3.6=254.088
(d) Firstwe multiply 709 by 8
409
x 8
Sum ofthe decimal places in decimal numbers=3+1=4

So, we put the decimal paint in the product, so as to have 4
decimal places from the right.

Thus, 0.409 x 0.8=0.3272
2. Findthevalueof:
(a) Firstwe multiply 23 by 35.
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(b)

(c)

(d)

23
x 35

115
690
Sum of the decimal places in decimal numbers=1+1=2

So, we put the decimal point in the product, so, as to have 2
decimal places from the right.

Thus,2.3%3.5=8.00=8
First we multiply 136 by 81.

136
x 81
136
10880

11016
Sum of the decimal places in decimal numbers=1+1=2

So, we put the decimal point in the product, so, as to have 2
decimal places from the right.

Thus, 13.6 x8.1=110.16
First we multiply 75 by 3.
75
x3
Sum of' the decimal places in decimal numbers=1+1=2

So, we put the decimal point in the product, so, as to have 2
decimal places from the right.

Thus, 7.5%x0.3=2.25
First we multiply 163 by 7.
163
x 7
Sum of the decimal places in decimal numbers=1+1=2

So, we put the decimal point in the product, so, as to have 2
decimal places from the right.

Thus, 16.3x0.7=11.41
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(e)

()

(2

(h)

First we multiply 445 by 25.

445
x 25
2225
8900

11125
Sum of the decimal places in decimal numbers=1+1=2

So, we put the decimal point in the product, so, as to have 2
decimal places from the right.

Thus,44.5x2.5=111.25
First we multiply 2381 by 6.

2381
X 6
14286
Sum of the decimal places in decimal numbers=2+1=3

So, we put the decimal point in the product, so, as to have 3
decimal places from the right.

Thus, 23.81 x0.6=14.286
First we multiply 3207 by 2.

3207
x2

6414
Sum of the decimal places in decimal numbers=2+1=3

So, we put the decimal point in the product, so, as to have 3
decimal places from the right.

Thus, 32.07x0.2=6.414
First we multiply 8 by 4.
8
x 4
Sum of the decimal places in decimal numbers=1+1=2

So, we put the decimal point in the product, so, as to have 2
decimal places from the right.

Thus, 0.8 x0.4=0.32
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(1)

G

(k)

(M

First we multiply 43 by 5.

43
x5
Sum of the decimal places in decimal numbers=2+1=3

So, we put the decimal point in the product, so, as to have 3
decimal places from the right.

Thus, 0.43 x0.3=0.215
First we multiply 36 by 3.
36
x3
Sum of the decimal places in decimal numbers=3+1=4

So, we put the decimal point in the product, so, as to have 4
decimal places from the right.

Thus, 0.036 x0.3=0.0108
First we multiply 7008 by 35.
7008
X 35

35040
210240

Sum of the decimal places in decimal numbers=3+1=4

So, we put the decimal point in the product, so, as to have 4
decimal places from the right.

Thus, 7.008 x 3.5=24.5280
First we multiply 923 by 7.
923
x 7
Sum of the decimal places in decimal numbers=3+2=35

So, we put the decimal point in the product, so, as to have 5
decimal places from the right.

Thus, 0.007 X 9.23=0.06461

Math-5 @



(m) Firstwe multiply 89 by 25.

89
x 25
445
1780

Sum of the decimal places in decimal numbers=3+1=4

So, we put the decimal point in the product, so, as to have 4
decimal places from the right.

Thus, 0.089 x2.5=0.2225

3. Match the following columns and write the correct
statements in your notebook :

Column I Column II
(H 03x1 (c) 03
(IT) 0.5x8 () 4.0=4
(I1I) 0.12x7 (d) 0.84
(IV) 0.21x0.3 (b) 0.063
(V) 0.6x0.14 (a) 0.084
(VI) 0.75%x0.5 (e) 0.375
Exercise -8.4
1. Divide:
(a) n (b)
4)18.4
-16 |
24
24
_0
Thus, 18.4+4=4.6
6.6
© 7)46.2 @
42|
42
42
0

Thus,46.2+7=6.6
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=35
_ 0

Thus,23.5+5=4.7

Thus8.1+9=0.9



(e)

Thus, 82.5+15=5.5

(2
4.845

18)87.210
-72
152
—-144
081
-12|
90
90
0

Thus, 87.21+18=4.845

@) 0.552
14)7.728
70
72
70
28
28
0

Thus, 7.728 +14=0.552

(® 8.035

12)96.420
96

042

~36

60
- 60

0

Thus 96.035+12=8.035

(h)
3.308

)46 312

—42

43

—42
112
112
0

Thus46.312+14=3.308

0) 8.27
15)124.05
-120

40

-30
105
- 105
0

Thus 124.05+15=8.27
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(k) 34.54 )] 0.30625
21)725.34 32J9.620000
63 96
95 0200
—84 ~192
113 80
- 105} —-64]
84 160
-84 —- 160
_ 0 _ 0
Thus, 725.34+21=34.54 Thus 9.62 +32=0.300625
(m) 17.9575 ()
16 387.3200 0.926
“16] | 43)39.818
127 ~387
112 111
153 ~ 86
— 144 258
92 —258
- 80} _ 0
120
- 112}
80
- 30
_ 0
Thus, 287.32+16=17.9575 Thus 39.818+43=0.926
(0) 2.3848 )
25’5_9?200 0.059
~50 13)0.767
96 65/
75 117
212 117
~200 0
120 —
~100
200
~200
_ 0
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Thus, 59.62+25=2.3848 Thus 0.767+13=0.059

(@) 1.275 () oy
4/5.100 :
‘4 26/93.6
11 gL
_8 156
36 156
~ 28] _ 0
20
- 20
_ 0
Thus,5.1+4=1.275 Thus93.6+-26=3.6
Exercise - 8.5
1. Find the quotient:
) 0.832 ®) 1.834
10/8.320 100)183.400
~80 —-100
32 834
—30 -800
20 340
-20 -300,
0 400
—400
0
Thus, 8.32+10=0.832 Thus, 183.4+100=1.834
(©) 0.03952 (d) 0.1305
1000’_3390'33000 100/13.0500
9520 ~100/
~ 9000 ggg
5200 n 500
- M 500
2000 _—O
2000 —
0

Thus, 39.52+1000=0.03952 Thus, 13.05+100=0.1305
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() 0.006

10/0.060
- 60

Thus, 0.06+10=0.006

2.
following statements true :
(a)10 (b) 100  (c)10
Exercise - 8.6
1. Divide:
(a) Wehave,
_ 28
2.8+0.4 = 04
_2.3x10
0.4x10
28
4
=7
Hence,2.8+0.4=7
(b) Wehave,
0.36+0.3 = 0.36
0.3
_0.36x10
~0.3x10
3.6
3
=1.2

Thus,0.36+0.3=1.2

(H) 0.05023
1000/50.23000

~5000] ]

2300

~2000

3000

—~3000

0
Thus, 50.23 +1000=0.05023

Fill in the blanks with 10, 100 or 1000, so, as to make the

(d)100  (e)100 ()10

7
4)28
- 28

0

[a—
(\S]

|UJ
| o|w ©
oloy Re—an
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(©)

(d)

(e)

(®

We have,
0.125+0.05 = 0.125
‘ ' 0.05

_0.125x100
~0.05%100
125
5
=25

Thus, 0.125+0.05=2.5
We have,
6.39

6.39+0.9 = ——
0.9
~6.39x10
0.9x10
_ 9939
10
Thus, 6.39+0.9=6.39

We have,
1.52+0.2 = 152
0.2

15210

©0.2x10

= Ez 7.51
2

Thus, 1.52+0.2=7.51
We have,
0.56

0.56+0.7 =——
0.7
_0.56x10
0.7x10
= 5—6 =0.8
7

Thus, 0.125+0.05=2.5
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(g) Wehave,

(h)

(1)

@)

0.093
0.31
~0.093x100
0.31x100
=2 =03
31
Thus, 0.093+0.31=0.3
We have,
0.416+0.16 :w
0.16
~0.416x100
0.16x100
_41.6

— =2.5375
16

Thus,0.416+0.16=2.5375
We have,

0.39861+0.43 =

0.093+0.31 =

0.39861

0.43
~0.39861x100
©0.43x100

_ 39.861 —0.927
43

Thus, 0.39861+0.43=0.927
We have,

152306+ 50.6 — 12:2306

50.6
_ 15.2306%10

50.6x10
152306

506
Thus, 15.2306+50.6=0.301
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(k)

(M

(m)

We have,
2.041
2.0418+0.083 = 0418
0.083
~2.0418x1000
0.083x1000
:2041'8:24.6

Thus, 0.0418+0.083=24.6
We have,

0.0625+12.5 = 0.0623

12.5
_0.0625x10
©12.5%10
_0.625

=——=20.005
125

Thus, 0.0625-+12.5=0.005
We have,
0.36

03612 =——
1.2

_0.36x10
1.2x10
_30 43
12
Thus,0.36+1.2=0.3
We have,

0.0096+0.4 =

0.0096

0.4
~0.0096x10
©0.4x10
_ 0.096

=0.024

Thus, 0.0096 +0.4=0.024
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(0)

()

(@

We have,

0.0729+8.1 = 0.0729

8.1
~0.0729x10
8.1x10

_ 0729 0.009
81

Thus, 0.0729-+81=0.009
We have,

0.0676+2.6 = 0.0676

~0.0676x10
2.6x10

_ 0676 _ 0.026
26

Thus, 0.0676+2.6=0.026
We have,
7.38

7.38+3.6 =——
3.6

_7.38x10
3.6x10

~B3 _50s
6

Thus, 7.38+3.6=2.05
We have,

1236152205  12:3615
2.05

~12.3615x100

2.05x100
1236.15

205
Thus, 12.3615+2.05=6.03

Math-5
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0.009

81/0.729
~0 |

07
-0
072
-0 |
729
- 729
0

0.026

26/0.676
—0|

6.03
205)1236.15
— 1230
61
-0
615
615

0



Exercise-8.7

1. Find the quotientin each of the following :

(a) Wehave,
12+1.5 = 12
1.5
_12x10
1.5x10
_120
15
Thus, 12+1.5=8
(b) Wehave,
72+24 = 2
24
_72x10
2.4x10
Iy,
24
Thus, 72+2.4=30
P g =12
R K
15210
1.9x10
_ 1520 P
19
Thus, 152+1.9=80
(d) Wehave,
25+0.05 = el
0.05
_25x100
0.05x100
_ 2500 _ 500

Thus, 25+0.05=500
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(e) Wehave,

214084 =
0.84

~21x100
0.84x100

_ 2100

84
Thus,21+0.84=25

=25

() Wehave,

120+0.016= 120

0.016
~120x1000
~0.016x1000

_ 120000 _ 7500

Thus, 120+0.016 =7500

(g) Wehave,

203+0.07 = 22
0.07
_203x100

©0.07x100

= w =2900

Thus, 203 +0.07=2900

(h) Wehave,

640+0.32 _ 640
e 0.32

_ 640%100
0.32x100
_ 64000

—— = 2000
32

Thus, 640+0.32=2000
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(1) Wehave,

675+2.25= o7
2.25

_ 675x100

2.25%100

_ 67500 _ 300

225

Thus, 675+2.25=300

Exercise - 8.8

1. Divide:
(a) Wehave,
42+8 = 2
8
=5.25

Thus,42+8=5.25

(b) Wehave,

2513 =2
13

Thus,25+13=1.923076

(c) Wehave,
800+32 = 809
32

Thus, 800+32=25

Math-5
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225)67500
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1.923076
13)2500000
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120
- 117
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- 26

40

-39

100

91

90

78
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25
32800
- 64
160
- 160

0




(d) Wehave,

520+65 = 29 6i 22
65
Thus, 520+65=28
2. Find the quotientin each of the following :
(a) Wehave,

[\
OO O

2.65

20/5300

53+20= " 10

130

Thus, 53 +20=2.65 - 120

100

- 100

0

2.33

(b) Wehave, 48)111.84
96

111.84+48= 158

— 144

Thus, 111.84+48=2.33 144

— 144

_ 0

(¢) Wehave, 028
25J)700
7+25= -50
200

—-200

Thus, 7+25=0.28 0

(d) Wehave,

0.6
+40= 40240
24+40 0240
_0

Thus, 24 +40=0.6
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Chapter 7 : Fractions
Exercise-7.1
1. Shade the following given fractions in the figures.

(a) (b) (©) (d)

(©) @ () (2 (h)

2.  Write the fractions of each of the following shaded regions.

@) 3 by 4 c 1 @ 4
8 9 3 8
@ 2 o 1 o 3 ®» 3
5 4 8 4
3.  Write the fractions for each of the following :
3 5 5 3
@ 5 ® 2 © 3 @ 3
2 4 7 7
e < = L h 4
(e) = ® 7 (2) T (h) 5
H 6 o 2 k& 3 - 7
7 4 6 8
4.  Write the number name for each of the following :
(a) Two-sevenths (b) Four-fifths
(¢) Five-sixths (d) Three-elevenths
(e) Five-nineths (f) Six-tenths
(g) Four-nineths (h) Seven-twelfths
(1) Three-eights () Five-twelfths
5.  Write afraction for each of the following division numeral :
4 2 5 4 5
(@ 75 ) 5 © 377 @5 © 3
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6. Write adivision numeral for each of the following fractions.
(a) 2+7 (b) 5+6 (c) 9+11 (d) 5+8
(e) 1519 () 1223 (g 79 (h) 5+12
(1 7+15

Exercise 7.2
1. Write numerators and denominators of the following
(a) Numerator=6, Denominator=11

(b) Numerator=35, Denominator=19
(¢) Numerator=3, Denominator=13
(d) Numerator= "7, Denominator=12
(¢) Numerator=7, Denominator=19
(f) Numerator=9, Denominator=13
(g) Numerator=8, Denominator=15
(h) Numerator =2, Denominator=9

(1) Numerator=4, Denominator=>5

(j) Numerator =4, Denominator= 19

2.  Write the fractions whose numerators and denominators

aregiven:

@& ®3 © 3 @ &

© 3 0 2 @ > ® 3
3.  Write the value of each of following :

(a) %x56:1X56:56+7:8

(b) %><36=1X336=36+3=12

(©) %x75=1>1<575=75+15:5
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(d) % 64— 3><864_192+8=24
(e) 2 27:2X27:54+3=18
3 3

(H é 63=1X63:63+9=7

(©) % x35=3X33 _105:5=21
h

(h) % w18=2x18 95 .3 _14
(1) %49 5><749 245+7 =35

Calculate the following fractions :
@ 5, _5x21

~105-7=15
(b) gx63=6X63=378+7=54
(c) gx72—4x972—288 9=32
(d) %x63:3x763:189+7:27
(e) %x27:2><327:54+3:18
) %><20=3X20=60+4=15
1 1x35
1352 —35:5-7
(&) 3~ 5
) %><64=M=320+8=40
Lop3s=lyas_1x35 _35.5_7
5 5
1 1 1x24
Lopoa=tyng1x24 5433
3° 3" 3
1 1 1x16
Lorte=Lx16= —16+2=
Jof16=2x16=1210=16+2=3
%of42:é><42:1><42=42+6=7
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9. iof28=ix28=lx‘28

1 1 1x24
—of24=—-x24=""—=24+2=12

=28+4=7

Exercise 7.3
1. Fillin the blanks:

(a) 20 (b) 1 (c) 52 (d) 153
(e) 72 (H 10 (g) 6 (h) 12
i 1 G) 4 k) 6 M 1
2. Fillin theblanks:
(a) 3 (b) 2 (c) d 9
(e) 8 H 3 (2) (h) 1
@H 3 G 3 (k)
3.  Write the next three fractions of the following :
@ B_16_32 b 16_32_64
24 48 96 40 80 160
(c) 24_48_96 (d 32_064 _128
8 16 32 56 112 224

Exercise-7.4

1.

Find the fractions having the same denominator :

11

@ 31 213  © ;3
676 7°7°7
d 21 (e 135 H 23
6’6 4°4°4 4’4
Find the fractions having the same numerator :
4 4 2 2 33
a) = 2 b) £ £ c) 22
()7,5 ()7,9 (©) 5
2 2 1 11 55
d == e) —,>,— ==
@ 2.2 © T5y O 23
Find the greatest fractions :
2 4 5
@35 O ©F @
) 1 0 7
2 8
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4. Find the smallest fractions :

@ 1 by 4 © 2 d 1
7 11 6 9
(e) S ® 1
11 5
5. Fillin the circles with<or>:
(a) < (b) < (c) > (d >
(e) < (H >
6. Arrange the following in ascending order :
1257 1111 3333
a) -~ £ 2 1 b) L~ 1 2 C D 222
@®) 8’8’8’8 ®) 9°7°3’2 © 13°7°5°4
2345 1235 35 710
d 2222 e) . £22 =2 11
@ 7°7°7°17 © 7°7°7°7 ® 11°11°11°11
7. Arrange the following in descending order :
6531 2323 7717 1
@ 7777 (b)) 677°8’11 (¢c) 9’11’13°15
1111 5431 3333
@ 5%79 © 77377 O 577
Exercise 7.5
1. Find the sum of the following :
5.6 _5+6_11 2.5_2+5_7
@ 1B~ 13 13 ®  9TgT 9 Ty
8 7 _8+7_15 6.7 _6+7_13
© 19" 59"19 190 @ T 7T
5.2 5427 2,4_2+44_6
© $*s~§ ~% O Fre="7m"=7
5,.4_5+44_9 4.7 _4+47_11
@ T ™ 35T T3
. 8 3. 1 _8+3+1_12
O B33 13 13
0 2,4, 1_2+44+41_7
9 99 9 9
®) 2,3,1_243+41_6
77 7 7 7
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2.

4.

Write the correct number in each box :

3+1 4

1+3 4 21 _=

(a) 3 —% ® 5 "5
1+5+ 12
1+7 8 — <
€ 1+7_8 & 5371

Find the different between :
9 d 5 9 5 9-5 4

@ B3T3 13 13 13
7 0q3 .7 3 _7-3_4

® 1575715
9. 42_9 2 _9-2_7

15 15 15

© 107710 10 10 10

157715 15 15 15 15
() 12, 45_12 5 _12-5_7
13713 13 13 13 13

® 15,413_15 13 _15-13 _2

(@ M, 7 _11 7 _11-7_4

197719 19 19 19 19
(g) 4,q3-4_3_4-3_1
5957575775 3
hy Tapg2-71_2_7-2_5
) gandg=g-5="5"=3

() Land>-Ll_S5_7-5_2

Find the difference of the following :
15 13 _15-13_ 2 9 4 _9-4_ 5

(@ 17 17 17 17 M 11 11 11 11

5 _2 15 9 _ _6
© 979779 "9 @ 1919 19 19
1 1

S T R TR VR Ve VI
@ W _7_1-7_4 ) 1_5_7-5_2



5. Write the correct number of each box.
(a) 7—3:i (b) 7-1_6 () 11-2 9

10 10 8 8 15 15

6. Rohanate % ofapizza.

1
then ate another )

1 1
We eaten altogether=75 5
2 Z
= 1Pizza

7.  Varungave away % of’chocolate.

Therefore chocolate left with varun.

. g_(le)—3
rE

Chapter 8 : Multiples and Factors
Exercise - 8.1
1.  Write first four multiples of the following numerals :

(a) The first four multiples of 6, we multiply by the first four
counting numbers.

6x1=06
6x2=12
6x3=18
6x4=24
Hence, the first four multiples of 6 are 6, 12, 18 and 24.
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(b)

(©)

(d)

(e)

The first four multiples of 19, we multiply by the first four

counting numbers.

19x1=19, 19 x2=38, 19x3=57

and 19x4=76

Hence, the first four multiples of 19 are 19, 38,57 and 276.
The first four multiples of 24, we multiply by the first four

counting numbers.

24 x1=24, 24 x2=48, 24x3=72, 24x4=96
Hence, the first four multiples of 24 are 24,48, 72 and 96.
The first four multiples of 32, we multiply by the first four

counting numbers.

32x1=32, 32x2=64, 32x3=96, 32x4=128
Thus, the first four multiples of 32 are 32, 64,96 and 128.
The first four multiples of 41, we multiply by the first four

counting umbers.
41 x1=41, 41 x2=82, 41x3=123, 41 x4=164
Thus, the first four multiples of 41 are 41, 82, 123 and 164.

Write all the factors of the following numerals :

(2)

(b)

The multiplication factors of 48 are :
48=1%x48=2x%x24=3x16=4x12=6x8

Therefore, the factors of 48 are 1, 2, 3, 4, 6, 8, 12, 16, 24
and 48.

The multiplication factors of 104 are :

104=1x104=2x52=4x26=8x13
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Thus, the factorsof 104 are 1, 2,4, 8, 13,26, 52 and 104.

(¢) Themultiplication factors of 160 are :
160=1%x160=2x80=4%x40=5x32=8%x20=10%16
Thus, the factors of 160 are 1,2, 4, 5, 8, 10, 16, 20, 32, 40,
80 and 160.

(d) Themultiplication factors of216 are :
216=1%x216=2x108=3x72=4x54=6x36=8%x27=
9x24=12x18
Thus, the factorsof 216 are 1,2, 3,4,6,8,9,12,18,24,27,
36,54,72,108 and 216.

(e) Themultiplication factors of 385 are :
385=1%x385=5x77=T7x55=11x35
Thus, the factors of 285 are 1,5, 7,11, 35, 55,77 and 85.

The odd numbers between 351 and 369 are :

351+2=353, 353+2=355, 355+2=357, 357+2=359,

359+2=361, 361+2=363, 363+2=365, 365+2=367

Thus, the odd umbers are 353, 355,357 359, 361, 363, 364, 365
and 367/

The even numbers between 215 and 231 are :
215+1=216, 216+2=218, 218+2=220, 220+2=222,
222+2=224, 224+2=226, 226+2=228, 228+2=230
Thus, the even numbers are 216, 218, 220, 222, 224, 226, 228
and 230.
Write the prime factorization of the following numerals :
(a) Letus factorize the numbery the division method.
2142
21

7

1
Hence, the prime factorization of42=2 x3 x 7

(b) Letus factorize the numbery the division method.

3]
7]




Hence, the prime factorization of 54 =2 x3 x3 x 3
(¢) Letus factorize the number by the division method.

e L

Hence, the prime factorization of 96 =2x2 x2x2x2 x 3,

(d) Letus factorize the number by the division method.
21258

3[129

43| 43

1

Hence, the prime factorization of 258 is2 x 3 x 43.

(e) Letus factorize the number by the division method.

| 693
231
(71
1
1
Hence, the prime factorization of 693 is3 x 3 x 7 x 77

In each of the following cases, state whether the first number
is a factor of the second number :

(a) Tocheck whether 8 isafactor of256, we divide 256 by 8.

sl

—_
—_

lOO
[\O I\
B (W
2 Bl

—_—
AN N

Since remainderis 0, so 8 is a factor of 256.

(b) To check whether 13 is a factor of 826, we divide 826 by
13.
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63
13/826
~175
46
—-39
7

Since, remainder is not zero, so 13 is not a factor of 826.

(¢) To check whether 15 is a factor of 690, we divide 690 by

15.
46

15/690

- 60
90
-90.
0

Since remainder is zero, so 15 is a factor of 690.

(d) To check whether 21 is a factor of 468, we divide 468 by

21.
22

21/468

—42
48

—42
6

Since remainder is not zero, so 21 is not a factor of 468.
17,41 and 43 are the prime number of smallest 3-digit number.
17+41+43=101
Hence, 101 is the smallest 3-digit number.
The greatest 2-digit composite number is 99.

Look at the following pairs of numbers and determine
whether they are co-prime or twin prime :

(a) 8=1x2x2x2
9=1x3x3
8 and 9 have no common factor other then 1, so 8 and 9 are

co-prime.
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(b)

(©)

(d)

(e)

11=1x11
13=1x13

11 and 13 have only one composide number, so 11 and 12
are twin prime.

15=1%x3x5

16=1%x2x2x2x2
15 and 16 have no common factor other than 1, so 15 and
16 are co-prime.
64=1X2x2X2x2%x2x2
65=1x5x13
64 and 65 have no common factor other than 1, so 64 and
65 are co-prime.

71=1x71
73=1x73

71 and 73 have only one composite number, so 71 and 73
are twin prime.

Exercise-6.2

Find the HCF of the following set of numbers by the prime
factorization method :

1.

(2)

(b)

Resolving each of the given number into prime factors, we

gt 3915 327
55 3] 9

1 313

1

Prime factors of 15and 27 are :
15=3x%5

and 27=3x3x3

Common factors is 3. The smallest power of 3 is 1.
HCFof15and271s 3.

Resolving each of the given number into prime factors, we
get;
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(©)

(d)

i el
N~
— (W |\ (N [~ [0
N‘A‘OO

el

Prime factors of 48 and 84 are ;
48=2x%x2x2x2x3
and 84=2x2x3x7

Common factors are 2 and 3. the smallest power of 2 is 2
andthatof3is 1.

HCFof48and84=2x2x3=12

Resolving each of the given number into prime factors, we
get;

5155 2170
111 5]35
1 717

1

Prime factors of 55 and 70 are :
55=5x11

and 70=2x5x7

Common factors is 5. The smallest power of S is 1.
HCF of55and 701s 5.

Resolving each of the given numbers into prime factors,
we get;

2|72 2196
2[36 2048
2[18 2[24
3l 2[12
3[3 2] 6
1 33

1

Prime factors of 72 and 96 are :
T2=2x2x2x3x3
and 96=2x2x2x2x2x3
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Common factors are 2 and 3. The smallest power of 2 is 3
and thatof3is 1.

HCFof72and 96=2"x3=2x2x2x3=24
(e) Resolving each of the given numbers into prime factors,

we get;
2124 2142
2| 62 71] 71
31| 31 1
1

Prime factors of 124 and 142 are :
124=2x2x31
and 142=2x71
Common factors is 2. The smallest power of 2 is 1.

HCFof124and 142is 2.
(f) Resolving each of the given numbers into prime factors,
we get ;
{50 2154
268 2] 72
2 34 2[36
73 17 2] 18
: 309
3] 3
1

Prime factors of 136 and 154 are :
136=2x2x2x17
and 154=2x2x2x2x3x3
Common factor is 2. The smallest power of 2 is 3.
HCF of136and 154is2’=2x2x2=8
(g) Resolving each of the given numbers into prime factors,

we get; 217
2| 24 2136 20 92
2|12 T 1A
2 6 218 _2| 46
?—3 3 9 23| 23
T 313 L
1
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Prime factors of 24,72 and 92 are :
24=2x2x%x2x3 72=2%x2x2x3x3and92=2x2x23
Common factor is 2. The smallest power of 2 is 2.
HCFof24,72and 92is2°=2x2=4
(h) Resolving each of the given numbers into prime factors,

we get;

2132 21 48
2016 2[4 2
1 = 2] 72
2| 8 2112 Ay
= = 2] 36
2| 4 2] 6 5118
2| 2 31 3 2T o
T T 39
303
1

Prime factors of 32,48 and 144 are :

32=2x2x2x2x2 48=2x2x2x%x2x3and

144=2x2x2x2x3x3

Common factoris 2. The smallest power of 2 is 4.
HCFof32,48and 144=2"=2x2x2x2x2=16

(1) Resolving each of the given numbers into prime factors,
we get;

2160 21140 21240
2130 2170 21170
315 5035  5[8s
HiE 77 11

1 1 1

Prime factors of 60, 140 and 240 are :
60=2x2x3x5,140=2x2x5x7and240=2x2x5x17

Common factors are 2 and 5. The smallest power of 2 is 2
andthatofSis 1.

HCF 0f60, 140 and 240=2°x 5=2 x2 x 5=50

2. Find the HCF of the following numbers using the long
division method :

(a) HCF of 12 and 44 by long division method.
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(b)

(c)

(d)

(e)

4)8 12
-8
0
Hence, HCF of 12 and 44 is 4.
HCF of 17 and 51 by long division method.

17)51(3
~s1
0

Hence, the HCF of 17 and 51 is 3.
HCF 0f26 and 84 by long division method.

26) 84 (3

~ 78
67726 4
276 13
~6
0

Hence, the HCF of 26 and 84 is 2.
HCF of40 and 90 by long division method.

40) 90 (2
- 80
10) 40 (4
-40
_0
Hence, the HCF of 40 and 90 is 10.

HCF of 78 and 91 by long division method.

78) 91 U

- 78
13) 78 (6
~78
0]
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Hence, HCF of 78 and 91 is 13.
(f) HCF of 82 and 96 by long division method.

82) 96 (1
— 82
14) 82 (5

70
12)14 1
—12

2)12 (6

12
0
Hence, the HCF of 82 and 96 is 2.
(g) HCFof90and 115 by long division method.
90115 (1

Hence, HCF of 90 and 115 is 5.
(h) HCF of36 and 62 by long division method.

36)162 (4

~ 144

18J36 2
-36
0

Hence, the HCF of 36 and 162 is 18.

(1) First we find the HCF of 39 and 182. By long division
method.
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39)182( 4
— 156
26) 39 (1

HCF of39and 1821s 13.
Now, we find the HCF of 13 and 78.
13) 78(6

~ 78
0

Hence, the HCF 0f39, 78 and 182 is 13.

(j) Firstwe find the HCF of two large numbers.
Letus take 88 and 124.

88 J124 (1

52.

Thus, the HCF of 52, 88 and 124 is 4.

(k) Firstwe find the HCF of two large numbers.

Letustake 209 and 399.
Math-5
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209399 (1
—209
190)209 (1
- 190

1919010
-19_

‘O‘OO

The HCF 0f209 and 399 is 19. Now, we find the HCF
of 19 and 57.

19)5

%
Sl 3
(8]

Hence, the HCF of 57,209 and 399is 19.

()  First we find the HCF of 64 and 128 by long division
method.
64 )128(2
128
0

HCF of 64 and 128 is 64. Now, we find the HCF of 64
and 256.

64

5
5

4

“l\)l\)
SN D

Thus, the HCF 0of 64, 128 and 256 is 64.
Exercise-6.3

1. Find the LCM of each of the following set of numbers using
prime factorization method :

(a) LCMof14and21 by prime factorization method.

2 21
7]

|14 3
7 T
1 1
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14=2x7 and 21=3x7
The LCMof14and21=2x3x7=42
32

16
8

(b)

| RO

| 96
438
24
12

|l\)|l\)|l\)|l\)

| 4
| 2

1

Lefefpolafbe

The prime factors of 32 and 96 are :

32=2x2x2x2x2and96=2x2x2Xx2x2x2x3

Hence,the LCM 0f32and96=2x2x2x2x2x3=96
(c)

[a[ro]ro
— DN
»—ﬂ‘\l‘-b‘oo

2
2

W |
(] fe)

3]
3]

[a—
— ||

The prime factors of 28 and 60 are :

28=2x2xT7and60=2%x2x3 x5

Hence,the LCM 28 and 60=2x2x3 x5%x7=420
@ 258 1)

29129 31

1 1
The prime factors of 58 and 62 are :
58=2x29and 62=2x31
Hence,the LCM of 58 and 62=2x29x31=1798

w
EIIS

(e)
2|56

2
2[14
i

|l\)|l\)|l\)|l\)|l\)
ool 2l
—lolalelan S
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()

(2

(h)

The prime factors of 56 and 32 are :
56=2x2x2xT7and32=2x2x2x2x2x7=224

555 5185
[N 17]17
1 1

The prime factors 55 and 85 are :
55=5x11and85=5x17
Thus, the LCM of 55and 85=5x11x17=935

5|55 5|85 _2[36
)i 17117 2|18
1 1 319
313

1

Prime factors of 9, 15 and 36 are :
9=3x3,15=3x5and36=2x2x3x3
Thus, the LCM 0of9, 15and36=3 x3x5x2x2=180

2118 2152 3175
39 226 5[25
33 B3[13 5[ s

1 1 1

The prime factors of 18,52 and 75 are :
18=2x3%x3,52=2x2%x13and75=3%x5x5

Thus, the LCM 0f 18,52and 75=2x2x3 x3x 13 x5x5
=11700

2116 2|76 21264
2] 8 2[38 21132
20 4 19/ 19 2| 66
2] 2 ST 3133
1 1] 11

1

The prime factors of 16, 76 and 264 are :
16=2%2x2x276=2%x2x19and264=2x2x2x3x11
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Thus, the LCM of 16, 76 and 264 =2 x 2 x 2 x 2 X 19 x3 X
11=10032

2. Find the LCM of the following using the division method :
(a) HCF of48 and 84 by the division method.

|\1 SINISISIS

The LCM of48and 84=2x2x2x2x3x7=336
Hence, the required LCM is 336.

(®) 9, 36, 45
9, 18, 24
, 9, 12

6

9

b

9
, 9
3
1

&)

“

WWININ[N [N

k)

w

— WO |\O[\O

3
1
1

3

-

. LCMof9,36and48=2x2x2x2x3x3 =144
Hence, the required LCM is 144.
(c)
16, 72, 84
8, 36, 42
4, 18, 21
2, 9,21
1
3
1

9, 21
, 3, 1
I, 1

W W[

. LCMof16,72and84=2x2x2x2x3x3x7=1008
Hence, the required LCM is 1008.
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(d)
25, 40, 75

25, 20, 75
10, 75
25, 5,75
1, 15
I, 1, 3
I, 1

w|u|u|ro|ro|ro
S
[

. LCMof25,40and 75=2%2x2x5x5x3=600
Hence, the required LCM is 600.
(e)
63, 98, 112
63, 49, 56
63, 49, 28
63, 49, 14
63, 49, 7

O ||| DD

1
9, 1, 1
1

oo LCMof63,98and 112=2x2x2x2x7x7x9=7056
Hence, the required LCM is 7056.

(®) 108, 75, 230

54, 75, 115
27, 75, 115
9, 25, 115
3, 25, 115
1, 25, 115
1, 5, 23
1
1

[\S)
O3 | N[ LU L2 1[N

, 1, 23
, 1, 1

.. LCMof108,75and 230 =2x2x3x3x3x5x5x23
=62100

Hence, the required LCM is 62100.
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€] 390, 81, 279
330, 27, 93

3[10, 9, 31

3[10, 3, 31

10[10, 1, 31

311 1, 1, 31

1, 1, 1

.. LCM0f90,81and279=3x3x3x3x10x31=25110

Hence, the required LCM is 25110.

(h)
256, 308, 528
128, 154, 264
64, 77,132
32, 77, 66
16, 77, 33
8, 77, 33

, 77, 33
, 17, 33
, 17, 33
, 77, 11
11, 11
, 1, 1

SN[ IVSIES] SRS} O JE\O1 (O3 | O )

—
—_

-

4
2
1
1
1
1

5. LCM of256,308 and 528 =2 X2 x2 X2 x2 X2 x2 X2
x3xTx11=59136
Hence, the required LCM is 59136.

(1)

125, 650, 500
25, 130, 100
5, 26, 20

, 26, 4

13, 2

, 13, 1

, 1, 1

“

WIN[D |||

1
1
1
1

- LCM0f125,650and 500=5x5x5x2x2x13=6500
Hence, the required LCM is 6500.
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Exercise - 6.4

1. In each of the follow8ng pair of numbers, verify that the
product of numbers is equal to the product of LCM and

HCF:
a 2132
@ Stie 246
K] 22
2[4 !
2[2
1

(b)

(©)

Prime factorization 0of 32=2x2 x2 X2 x2
prime factorization of46 =2 x 23

HCF of32 and 46 is 2.
LCMof32and46=2x2x2x2x2x23=736
Product oftwo numbers =32 x 46 =1472
Product oftheir HCF and LCM =2 x 736 =1472

.. Product of two numbers = Product of HCF and LCM

258 2176
29129 2[38
[ 19[19

1

Prime factorization of 58§ =2 x 29

prime factorization of 76 =2 x2 x 19

HCF of 58 and 76 is 2.
LCMof58and 76 =2 x2x 19x29=2204
Product of two numbers =58 x 76 =4408
product of HCF and LCM =2 x 2204 =4408

.. Product of two numbers = Product of HCF and LCM

5|115 2250
23] 23 5125
1 E
ElE

1
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Prime factorizationof 115=5 %23

prime factorization of250=2x5x5x5

HCF of 115and 2501s 5.
LCMof115and250=5x5%x5x2x23=5750
Product of two numbers =115 x 250=28750
product of HCF and LCM =5 x 5750=28750

.. Product of two numbers = Product of HCF and LCM

Productoftwonumber =504
HCF =8
.. LCM ofthe two numbers = Product of two numbers
HCF of two numbers
_% s
8
Hence, required LCM is 63.
Product oftwonumbers =2754
LCM oftwo numbers =162
Product of t b
.. HCF oftwonumbers = roduct o1 *Wo numbers
LCM
_ 2754 17
162

Hence, the required HCF is 17.
LCM oftwo number =256
HCF of twonumber =6

Onenumber =96
LCM x HCF
.. Other number =
One number
_ 256x6 _ 16
96

Hence, the other numberis 16.
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Required number is HCF of 30, 45 and 90.

30_) ;lg (1 15
15) 30 (2 -
~30

0

O O
SRS
(o)

|

HCF 0f30,45and90=15
Hence, the required number is 15.
Required number is HCF of 62, 78 and 96.

48
@_ﬁ u 296
16) 62 (3 —%_
48

14716 1 -16
- 14 0
271417 o

~ 14

0

HCF of 62, 78 and 96 is 2.
Price of each copy will be the HCF of 56, 70 and 112.

970 U 14 112(8
2

- 56

14J°56 14 ~112
" 56 0
0
HCF of 56, 70 and 112 = 14

Thus, the price of each copy is T14.
Required number is LCM of 8, 20 and 24.
8, 20, 24

4, 10, 12
2, 5 6
1
1
1

5, 3
, 5, 1
I, 1

b

N[ WD




LCMof8,20and24=2x2x2x3x5=120
Hence, the required numberis 120.
9. Required numberis LCM of36, 60 and 84.

36, 60, 84
18, 30, 42
9, 15, 21
3, 5 7
I, 5 7
I, 1, 7
L, 1, 1
LCM of36,60and 84=2x2x3x3x5x7=1260
Hence, the required number is 1260.
10. Thebell ring together again will be the LCM of 12, 15 and 20.

N[N [W[W(N| DN

b

2|12, 15, 20
2] 6,15, 10
3
5

3, 15, 5
I, 5, 5
1, 1, 1

LCMof12,15and20=2x2x3x5=60

The bell will ring again after 60 minute i.e. 1 hour. First bell ring
9 am, then next bell ring together after 1 houri.e. 10 am.

Chapter 12 : Geometry

Exercise-12.1

1. Alinesegment.

2. Aplane have no boundary.

3. Fillintheblanks :
(@) no (b) two (c) ray

4. Identify the rays, line or line segments in the following
figures and then name them :

(a) line; XX
(b) Aray; BA L
(c) Alinesegment; XY

(¢) Aray; QP
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How many line segments are there in each of the following
figures ?

(a) two (b) four (¢) six (d) six.

Draw:

(@ <—% O +—x> (©

M N A B P Q

Exercise-12.2

1.

Which of the following figures represent angle ?
(a) Thefigure (c) and (d) representtheangle.

Write the names of vertex and the arms of each of the
following angles :

Figure Vertex Arms

(a) N NM, NP
(b) B BA,BC
(c) Y YX,YZ
(d) Q QP,QR

Write the name of the angle / angles in each of the following
figures :

(a) ZBOA (b) ZPQR
(c) /MNP, ZQPN (d) ZROQ, ZPOQ
(e) ZABC, /BCD, Z/CDE

Measure the angle in each of the following figures with the
help of a Protractor and wirte

Do Yourself.

Construct angles of the following measures with the help of
protractor and ruler:

Do yourself.

Exercise-12.3

1.

Classify each of the following figures into acute, right,
obtuse of straight angles :

(a) acuteangles (b) acuteangle (c) obtuseangle
(d) rightangle (e) straightangle
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Fillin the blanks :
(a) obtuse (b) right (c) acute (d) zero

3.  Write the names or acute angles in each of the following
figures:
(a) Infigureacuteangle:
/ZPON, ZNOM
(b) Infigureacuteangleare:
ZEAD, Z/BAC
(c) ZEOD, ZDOC, ZCOB, ZBOA, ZAOF,
ZEOC, ZBOD
Chapter 10 : Triangle
Exercise-10.1
1. Identify triangles in the following figures :
(a) Thetrianglesare: (c) and (f)
2. Lookatthe following figure and fill in the blanks :
(a) ARST (b) RS,STandTR
(¢) R,SandT (d) ZRST, ZSTR
3. Name all the triangles in each of the following figures :

(a) AABDand ABCD

(b) AJKM,AKML and AJKL

(c) APOQ, ADOR, AQOR and APQR

(d) ASWT, ATWU, AVWU, ASTU and AVTU

The total number of angles, vertices and sides of a triangle
respectively are three, three and three.

Exercise-13.2

1.

Classify the following triangles into isosceles, scalene or
equilateral :

(a) Since, every side of given triangle are different.
So, Itis Scalene triangle.

(b) Since, two sides of given triangle are same.
So, Itisisosceles triangle.
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4.

(c) Since, every side of given triangle are equal.
So, Itis equilateral triangle.
(d) Since, two sides of given triangle are equal.
So, Itis isosceles triangle.
(e) Since,every side of given triangle are different.
So, Itis scalene triangle.
Classify the following triangles into acute, obtuse or right :
(a) Since, every angle of given triangle is less than 90°.

So, Itis acute angle triangle.

(b) Since, one angle of given triangle is 90°.
So, Itis right angled triangle.

(¢) Since, one angle of given triangle is greater than 90°.
So, Itis obtuse angled triangle.

(d) Since, every of given triangle is less than 90°.
So, Itis acute angled triangle.

(e) Since, one angle of given triangle is greater than 90°.
So, Itis obtuse angled triangle.

Fillin the blanks :

(a) equal (b) two (c) unequal

Which of the following set of angles represent the angles of a
triangle ?

(a) Sumofthe givenangles=30°+70°+80°=180°
Since, sum of the given angles are 180°
So, Itrepresent a triangle.

(b) Sum ofthe givenangles =40°+80°+50°=170°
Since, sum of the given angles are not 180°.
So, Itisnotrepresentatriangle.

(¢) Sumofthe givenangles=32°+85°+63°=180°
Since, sum of the given angles are 180°.

So, Itisrepresent a traingle.
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(d) Sumofthe givenangles =40°+60°+70°=170°
Since, sum of'the given angles are not 180°.
So, Itisnotrepresenta triangle.

(¢) Sumofthe givenangle=30°+90°+40°=160°
Since, sum of the given angle are not 180°.
So, Itisnotrepresenta triangle.

(f) Sumofthe givenangle=31°+85°+64°=180°
Since, sum of the given angle are 180°.
So, Itisnotrepresenta triangle.

Chapter 11 : Circle

Exercise-11.1

1.

N

>

Radius : The distance between the centre

and any point on the circle is called radius. A
The line segment of its the radius of circle.

Circumference : The length of the closed

curve forming a circle is called its circ
umference.

We can draw infinite radii in a circle.

Draw circle of the following radii :

Do yourself.
Do yourself.
Find the diameters of the circles, whose radii are :
(a) Wehave,
Radius=3cm
.. Diametre =2 xradius
=2x3cm=6cm
(b) Wehave,
Radius =4.5cm
.. Diametre =2 xradius=2x4.5¢cm
=9cm.
(c) Wehave,
Radius =7.1cm
.. Diametre =2 xradius

=2x7.1cm=42.2cm
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(d) Wehave,

Radius =9.6cm
.. Diametre =2 x9.6radius
=192cm.
6. Find the radii of the circles, whose diameters are :

(a) Wehave,

Diametre =4cm

.. Radius = Diametre 4

———————=—cm=2cm
2 2

(b) Wehave,

Diametre =6.2cm

.. Radius = Diametre

2
B Q cm=3.lcm

(c) Wehave,

Diametre =8.4cm

Diametre _ 34 _
.. Radius - ———— = =42Zcm
2

(d) Wehave,

Diametre =8.4cm

- Radius — Dlar;etre _ 14.282 om

=74cm

7. Find the circumferences of the circles, whose diameters are:
(a) Weknow that,

Circumfrence =3 x diameter (approx.)
=3x3cm (approx.)
=9cm (approx.)

(b) We know that,

Circumfrence =3 x diameter (approx.)
=3x5cm
=15cm (approx.)

Math-5



(c) We know that,

Circumfrence =3 x diameter (approx.)
=3x6.5cm
=19.5cm (approx.)
(d) We know that,
Circumfrence =3 x diameter (approx.)
=3x123cm
=36.9 cm (approx.)

8.  Write 'T" for true and 'F' for false statements :
@ T, () F () F (@ T

Chapter 12 : Measurments
Exercise-12.1
1. Fillin the blanks to make the relationships correct :
(@) lmetre =100cm
=100 % 10 milimetres
=1000 milimetres
(b) 1hectolitre =10 decalitres
=10 x 1 decalitre
=10x 10 litres

=100 litres
(¢) lkilogram =1000 grams
(d) 1decigram = | grams
= lbocentigram
(e) 1litre =1000 mililitres
(f) ldecametre =10metres
=10 % 1 metre

=10x 10 decimetres

=100 decimetres
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2. Answer the following questions :
(a) metre, (b) 1000, (c) gram,
(e)mililitre, () 10.
Exercise-12.2
1. Convert:
(a) Since, ] m=10mm
6m =6x10mm
=60 mm
(b) Since, 1 g =10decigram
8g =8x10decigram

=80 decimgram
(¢) Since,1dl=10cl
7dl =7x10cl
=70cl

(d) Since,lIdam =10m
I5dam =15%x10m
=150m
=150x10dm
=1500dm
(e) Since,1hg=10dog =10x10g
=100g
23 hg =23x100g
=2300g
(f) Since, 1 kl=1000 litres
=1000x10dl
=10000dl
18kl=18 % 10000dl
=180000dl
(g) Since,l1km  =1000m
5.035km =5.035x%1000m
=5035m
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(h) Since,1g =10mg
.936g =9.36x10mg

=93.6 mg

(a) Since, 1 hl=10dol
=10x 10 litres= 100 litres
=100x10d1=1000d1

- 12.53hl =12.53x1000dl

=12530dl

Express each of the following as directed :

(a) 5.348kg =(5+0.348)kg
=5kg+0.348x 1000 g [.. 1kg=1000g]
=5kg+348¢g
=5kg348¢g

(b) 13.023hg =(13+0.023)hg
=13hg+0.023 x 10 dac
=13hg+0.23x10g
=13hg+23g
=13hg+2.3x10dg
=13hg+23dg=13hg23dg

(¢) 7.9dam =(7+0.9)dam
=7dam+0.9x10m
=7dam+9m
=7dam9m

(d) 10.008 km=(10+0.008) km
=10km+0.008 x 1000 m
=10km+8m
=10km8m

(e) 15371 =(15+0.37)!/
=157+0.37 x 1000 m/
=157+370m/

157+370m/

(f) 34.5dal =(34+0.5)dal
=34 dal+0.5dal
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3.

=34dal+0.5x10/
=34dal+51/
=34dal5/

(@) 700mm =70%10mm

=70x1cm

1
= —dm
70 x 10

(b) 6000dg =6000 x % g

=600g
=60x10g
=60dag
=6x10dag
=6x1hg
=6hg

(c) 801 :80xidal
10

=@dal
10
=8 dal

(d) 752m =752 x % dam

= 7—Szdam
10

=75.2dam

1
(e) 90801 cm =90801xmm

90801 1
= x — dam
100 10
90801 dam

1000

Ry

"1 itre= idal]
10

10

“lem= 1

100

“lm= 1 dam]



(f) 5904dag =5904x10g [."1dag=10g]

1
— 59040x —— kg U
1000 (1= 1500 ke

_ 59040

1000
=59.04kg

.. 1
dag ["1mg=——rdag]

1
60309 mg _
(&) g =60309x 5000 10000

60309

= a
10000
=6.0309 dag

() 752h1  —750% 2kl [ Thl= k]
10 10

=Ekl
10

=75.2kl

(i) 16035cl =16035x——hl [lel=— 1
10000

10000

_16035

10000
=1.6035hl

Express each of the following as directed :
(a) 3526g =(3000+526)g

3000
To00 & 2208
=3kg+526¢g
=3kg526¢g
(b) 205cg =(200+5)cg
=200cg+5cg
= 200 +5cg [."1cg= Lg]

Too & 100

=2g+5cg
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=2g5cg
(c) 8151/ =(800+15)!
=800/+15/

= 800,115 [ 1=
100 100
—8hl+15/
~8hl15/
(d) 50392ml =(50000+392)ml

=50000+392ml

= Mdal +392ml  [."ml= 1
10000 10000

=5dal+392ml
=5dal392ml

() 3020dm =(3000+20)dm
=3000dm+20dm

dal]

_ 3000, 20

1
— —hm+=—m [ 1dm=——hm
1000 10

1({00
_—m
and 1 dm= 10

=3hm+2m
=3hm2m

() 60057 cm =(60000+57)cm
=60000cm+57 cm

= Mhm +57 cm [."lcm= ! hm]
10000 10000

=6hm-+57cm
=6hm57cm
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Exercise-10.3

1.

Add.
(a) 13 5
+ 8 6

22 1

dam dm

(b) 25 362
+ 142 293

167 655

© hodl
205 362

+ 93 293

298 655

(d) kg dg
534 5304

+ 259 2851

793 8155

m mm

(e) 6 404
+ 12 508

613

19 525

Subtract:

(a) [  ml
84 421

— 25 326

59 95

b kg g
29 635

— 13 520

16 115

Hence, 13cm 5Smm+ 8 cm 6 m
=22cm 1 mm

Hence, 25 dam 36 dm + 142
dam29dm=167 dam 65 dm

Hence, 205 hl 362 dl + 93 hl
293d1=298hl655dl

Hence, 534 kg 5304 dg + 259
kg2851dg=793kg8155dg

Hence, 6 , 404mm + 12 m 508
mm+6I13mm=19m525 mm

Hence, 6 m404 mm+ 12 m 508
mm-+613mm=19m525 mm

Hence, 29 kg 635 g— 13 kg 520
g=16kgll5g
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(©) dag dg

52 07
— 24 36 Hence, 52 dag 7 dg — 24 dag 36
dg=27dag71dg
(b) hl  dl
163 085
= 35 523 Hence, 163 h1 85 dl—35 hl 523
dl=127h1562dl
Length of the cloth of one kind = O9m 12cm
Length of the cloth of anotherkind = +13m 65cm
22m 77cm
Hence, Reshma bought the cloths 22 m 77 cm.
Weight of first person = 48 .56kg
Weight of second person = 65.32kg
Weight of third person = + 54.85kg
Total weight of threeperson = 168.73kg
Hence, the total weight of three persons is 168.73 kg.
Total milk in the container = 63.4251
The milk taken away for it = —25.520/
37.9051
Hence, Left amount of milk in containeris 37.905 /.
Length of the longer train = 204.450m
Difference between the lengths of two train = — 23.526 m
180.924m
Hence, the length of the shorter train is 180.924 m.
Capacity of one container = 12kl 80dl
Capacity of second container = 28kl 39dl
Capacity of third container = + 83kl 95dl
125kl 14dl

Hence, the total capacity of three containers 125 k1 14 dl.

WeightofRita =  65.036kg

Weight of Reena =Weight of Rita—8.295 kg
=65.036kg—8.295kg
=(35.036—-8.295)kg=56.791 kg

Hence, the weight of Reena is 56.791 kg
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Chapter 13 : Perimeter, Area and Volume

Exercise-13.1

1. Find the perimeter of the rectangle in which :

(a) Here,I=9cmandb=7cm
.. Perimeter of the rectangle =~ =2(1+b)

=09+7)cm
=2x16cm
=32cm

(b) Here,I=11.5cmandb=9cm

.. Perimeter of therectangle ~ =2(1+b)
=2(11.5+9)cm
=2x20.5cm
=4lcm

(c) Here,I=12.5mandb=7.3m
.. Perimeter of therectangle ~ =2(1+b)
=2(12.5+7.3)m
=2(19.8)m
=39.6cm
(d) Here,I=352mandb=23m
.. Perimeter of therectangle ~ =2(1+b)
=2(35.2+23)m

=2(58.2)m
=116.4m
2. Find the perimeter of the square in which each side is as
follows :
(a) Here,side=6cm
Perimeter of the square =4 xside
=4 xcm
=24 cm
(b) Here,side=9.5cm
Perimeter ofthe square =4 x side
=4x9.5cm
=38cm

Math-5



3.

(c) Here,side=19.5m

Perimeter of the square =4 x 145 m
=78 m
(d) Here, side=254m
Perimeter of the square =4 X side
=4 x254cm
=101.6 m

Find the breadth of the rectangle in which :
(a) Perimeter of the rectangle, P =42 cm
Length of the rectangle, | = 12 cm
P
—1
Breadth (b) of the rectangle = 2

)

(E—U)cm
2

=21-12)cm
=9 cm.
(b) Here,P=64 cmand =19 cm
P
.. Breadth of the rectangle = ( 2 lj

64
2

g

=(32-19)cm
=13 cm
(c) Here, P=86 dm and =29 dm
P 1

. Breadth of the rectangle = | 5
_ (ﬁ - 29) dm
-2
=(43-29)dm

=14 dm
(d) Here,P=118and1=44m
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.. Breadth of the rectangle

| Il
7 N\
VR
> N | o
|
—
N

=(59-44)m
=15m

Find the each side of the square, whose perimeter is as

follows :
(a) Perimeter of the square

.. Side of the square

(b) Perimeter of the square

.. Side of the square

(c) Perimeter of the square

.. Side of the square

(d) Perimeter of the square

.. Side of the square

44 dm

Perimeter

4
4
11 dm

=62 cm

_ Perimeter

4
62

—Cm

=155cm
101 cm
P erimeter
N 4
101

4

=25.25 cm.
97 m

P erimeter
4
97
—m
4
=24.25 cm.
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Length of the park =52 m and breadth of the park=25m

.. Perimeter of the rectangular park =2 (lengrth + breadth)
=2(52+25)m
=2(77)m
=154m

Hence, the required perimeteris 154 m.  Ans.

Side ofthe square plot=36.2 dam

.. Perimeter of the squarplot =4 xside
=4x36.2dam
=144.8 dam

Hence, the required perimeter is 144.8 dam. Ans.

Length ofthe rectangular field, =103 m
Perimeter of the rectangular field, P=352m

)
(2w

=(176—-103) m
=73m

Hence, the required breadthis 73.  Ans.

Leteach side of a carom-board be x cm.

.. Breadth (b) of the rectangular field

Perimeter of carom-board =322 cm
Perimet
.. Length of each side of carom-board = w
322
= —Ccm
4
=80.5cm

Hence, the required length is 80.5 cm Ans.

Exercise-11.2

Which of the shaded regions has greater area ?
(a) Inthe given figure first figure has greater area.
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(b) Inthe figure second figure has greater area.
(¢) Inthe given figure first figure has greater area.

2. Find the area of the figures drawn on a square paper by
counting squares :
(a) (1) Number of complete squares enclosed by the figure
=7
(i) Number of more than half squares enclosed by the
figure =8
(ii1) Number of one-fourth squares enclosed by the figure
=4
Hence, area of the figure = (7 +8+ 1 X 4) sq.cm
4

(15+1)sq.cm
=16sq.cm
(b) Steps:
(1)  Number of complete squares enclosed by the figure =5
Hence, area of the figure =5 sq. cm
(c) Number of the complete squares enclosed by the figure =12
Hence, area of the figure =12 sq. cm
(d) Steps:
(i) Number of the complete squares enclosed by the figure
=4
(i) Number of more the half squares enclosed by the figure
=1
(ii1) Number of half squares enclosed by the figure =4

Hence, area of the figure = (44_1_'_%)(4] sq.cm

=(5+2)sq.cm
=7sq.cm
Exercise-11.3
1. Find the area of the rectangle in which :
(a) Here,I=8cmandb=5cm
Areaoftherectangle =1xb
=8(mx5)cm =(8 x5)sq.cm
=40sq.cm.
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(b)

(c)

(d)

(e)

03]

Here,1=11 dmandb=7dm
Areaoftherectangle =1xb
=(11%x7)sq.dm
=77 sq.dm.
Here,1=7.5mandb=6m
Areaoftherectangle =1xb
=7.5mx6m
=(7.5%x6)sq.m
=45sq.m
Here,1=12.3mandb=8.1m
Areaoftherectangle =1xb
=123mx8.1m
=(12.3x8.1)sq.m
=99.63 sq.m
Here,1=81 cmandb=23 cm
Areaoftherectangle =1xb
=8lcmx23cm
=(81x%23)sq.cm
=1863sq.cm
Here,1=29.1cmandb=12.16 cm
Areaoftherectangle =1xb
=29.1x12.16)sq.cm
=353.856sq.cm.

Find the area of the square, whose each side is a follows :

(2)

(b)

(©)

Side of the square=8 dm

. Area of the square = (side)’
=(8)’sqdm
=64sqdm

Side ofthe square=13 cm

. Area of the square = (side)’
=(13)’sqcm
=169 sqdm

Side of the square =26 dm

. Area of the square = (side)’
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=(26)’sqcm
=676sqdm
(d) Sideofthesquare=12.3m
. Area of the square = (side)’
=(12.3)’sqcm
=151.29sqdm
(e) Sideofthesquare=25.21m
.. Area of the square =(side)’
=(25.21)’sqm
=635.5441sqm
=64sqdm
(f) Sideofthesquare=4.47m
. Area of the square = (side)’
=(4.47)’sqm
=19.9809
Length of the rectangular Park =43 m and Breadth=29m
.. Area of the rectangular Park =length x breadth
=43 x29sqm
=1247sqm
Hence, Area of the rectangular Park is 1247 sq m. Ans.
Side ofthe square field=83 m
. Area of the square field = (side)’
=(83)’sqm
=6889sqm
Hence, the required area is 9889 sqm. Ans.
Length of the rectangular field=103 m and breadth=67m
.. Area of the rectangular field =length x breadth

=103 x67sqm
=6901 sqm

.. Costof'1 square metre =25 Paise

.. Costof 6901 squaremetre  =(25n6901) Paise
=172525Paise
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=3 172525

100
=3 1725.25

Hence, area of square fields is 6901 sq m and cost of Ploughs is
31725.25 Ans.

Here, Breadth= 13 dm and Perimeter= 68 dm

. Length of the rectangle = Perimeter . 4h

2
- (ﬁ -1 3] dm
2

(34—13)dm
=21dm

Length=21dmandbreadth  =13dm

.. Area of the rectangle =length x breadth
=21%x13sqdm
=273 sqdm.

Let the side of square chess-board be x cm.

Perimeter of square chess-board=92 cm.

Side of the chess-board (x) = w
= 92
“cm
=23 gm
. Area of chess-board = (side)’ =(23)’sqcm
=529sqcm

Hence, the area of square chess-board is 529 sq cm.

Length of the rectangle =8.9 m and breadth=6.3 m

Area oftherectangle = length x breadth
=8.9x6.3sqm=56.07 sqm

Sideofthesquare =7.2m

Areaofthesquare =(side)2 =(7.2)2sqm
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=51.84 sqm
Since 56.07>51.84

.. Area of rectangle > area of square
Difference oftwoareas =(56.07—51.84)sqcm=4.23 sqcm
Hence, the are of rectangle 4.23 sq cm more than area of square.
Exercise-13.4
1. Find the volume of the cuboid in which :
(a) 1=8cm,b=4cmandh=3cm

Volume of'the cuboid =Ixbxh
=8x4x3cm’
=96cm’.

(b) Here,I=12cm,b=9cmandh=5cm

Volume of the cuboid =Ixbxh
=12x9x5cm’
=540cm’.

(c) Here,I=4m,b=3.5mandh=2m

Volume of'the cuboid =1xbxh
=4x35%x2m’
=28m’.

(d) 1=14dm,b=6.5dmandh=3.5dm

Volume of the cuboid =1xbxh
=12x6.5x3.5dm’
=318.5cm’.

(e) Here,1=7.2dm,b=6.9dmandh=3dm

Volume of'the cuboid =Ixbxh
=7.2%6.9x3dm’
=149.04 cm’.

() Here,1=26m,b=19.5mandh=13.2m

Volume of the cuboid =Ixbxh
=26x19.5x13.2m’
=6692.4m’.

2.  Find the volume of the cube, whose each side is as follows :
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(2)

(b)

(©)

(d)

(®

(2

(h)

Here, side of the cube =4 dm
Volume ofthe cube  =(Side)’
=(4)’ dm’
=64 dm’
Here, side of the cube=7 cm
Volume ofthe cube = (Side)’
=(7) em’
=343 cm’
Here, side of the cube=12m
Volume ofthe cube = (Side)’
=(12)'m’
=1728m’
Here, side of the cube =20 cm
Volume ofthe cube = (Side)’
=(20)’ cm’
=8000 cm’
Here, side of the cube=6.3 cm
Volume ofthe cube = (Side)’
=(6.3)’cm’
=250.047 cm’
Side ofthe cube=5.1m
Volume ofthe cube = (Side)’
=(5.1y’'m’
=132.651m’
Side of the cube =9.4 dm
Volume ofthe cube  =(Side)’
=(9.4) dm’
=830.584 dm’
Side of the cube=7.5m
Volume ofthe cube = (Side)’
=(7.5)m’
=421.875m’

Here, Length (1) =10 cm, Breadth (b) = 8.5 and height (h)=3.5
\Volume ofthecuboid  =1xbxh
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=10x8.5%3.5cm’
=297.5cm’
Hence, the volume of cuboid is 297.5cm’. Ans.
4. Here,side ofthe cube=8.7m
. Volumeofthecube ~ =(Side)’
=8.7’m’
=658.503 m’
Hence, volume of the cube is 658.503 cm’. Ans.

Chapter 14 : Simple Patterns

Exercise-14.1

1. Identify the pattern and fill in the blanks :
(a) 8888,88888 (b) 555,666

2. Look at the pattern in the pair of numbers given below and
write the next three number pairsin each :

(a) Thenextthree number pairsineach:
(20+5,25+5), (20+5+5,25+5+5), (20+5+5+5, 25+5+5+5)
Or(25,30), (30,35), (35,40)
(b) Thenextthree number pairs in each :
(4+1,10+2), (4+1+1,10+2+2), (4+1+1+1, 10+2+2+2)
Or(5,12), (6,14), (7,16)
(¢) Thenextthree number pairs ineach :
(4+1, 11+3), (4+1+1, 11+3+3), (4+1+1+1, 11+3+3+3)
Or (5, 14), (6,17), (7,20)
3. Observe the following pattern and write the next three steps :
(a) Thenextthreestepsare:
1234x8+4  =9876
12345x8+5 =98765
123456 x8+6 =987654
(b) Thenextthreestepsare:
(9x4321)—-1 =38888
(9%x54321)—1 =488888
(9%x654321)—1 =5888888
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(©)

(d)

The next three steps are :

(9% 1000)+ 1000 =10000
(9 x10000)+ 10000 =100000
(9x100000)+ 100000  =1000000
The next three steps are :

(9% 1234)+5 =11111
(9% 12345)+6 =111111
(9 x123456)+7=1111111

Discover the pattern in each and extend it to three more
places:

(a)

(b)

(c)

We see the pattern :
3x1+0=3
3x3+3=12
3x5+6=21
3x7+9=30
3x9+12=39
3x11+15=48
3x13+18=57
Hence, the next three numbers are 39,48 and 57.
We see the pattern :
4+0=4

4+4=8
8+8=16
16+16=32
32+32=64
64+64=128
128+ 128 =256
Hence, the next three numbers are 64, 128 and 256.
20x24+10=50
50x2+10=110
110x2+10=230
230x2+10=470
470x1+10=950
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950x2+10=1910

Hence, the next three numbers are 470,950 and 1910.
(d) Wesee the pattern :

(1y=1x1=1

(2)Y=2x2=4

(3)Y=3x3=9

(4)Y=4%x4=16

(5)=5x5=25

(6)Y=6x6=36

(7Y=7x7=49

(8 =8 x 8=64
(e) Wesee the pattern:

64+2=32

32+2=16

16+2=8

8+2=4

4+2=2

Hence, the next three numbers are 8,4 and 2.

Chapter 15 : Data Handling

Exercise-15

1.

Represent the above data in tabular form and, then answer
the following questions:

Let us how present the given data in an ascending order as
shown below :

4 4 5 5 6 6 7 & 8 8 8 8
9 9 10 11 11 11 11 12 13 13

When the same data is presented in a grouped form in a table we
have:

Age (inyears) No. of children
4 2
5 2
6 2
7 1
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8 5
9 2
10 1
11 4
12 1
13 2

(a) 5childrensare 8 years old.
(b) 2childrensare 13 years old.
(c) Numberofchilderns youngerthan 6 years=2+2=4 childrens

(d) Number of childrens between 6 and 11 yearsold=1+5+2
+1=9 children

Show the following information in the form of a pictograph :
Do yourself.

Data collected for the most popular subjects among the
students of classes I, Il and I1I are given below :

Do yourself.
Letus draw a bar graph for the given information :

Study the bar graph carefully and answer the given
questions :

(a) 300 toysare manufactured on Saturday.

(b) Themaximum toys are manufactured on Thursday.

(¢) 700 toys are manufactured on wednesday.

(d) 400 toys are manufactured on Friday.

(e) Total number oftoys are manufactured in all six class
=(800+500+700+900+400+300) toys=3600 toys
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